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QUESTION 1
You are requested to design a solution to handle a fallout scenario while communicating with an inventory system for
resource allocation because there are no available ports for a product that was purchased. Identify a solution that would

address this condition.

A. designing OSM to update the CRM system about the failure, so that the customer service representative (CSR) can
decide whether to cancel the in-flight order or issue a new revision order to allocate new ports

B. cancelling the order in OSM and informing the customer that the request cannot be processed

C. reallocating the reserved ports in the inventory system and activating the requested ports in the activation system
manually

D. suspending the in-flight order in OSM and manually creating a new order to create new ports in the inventory system

E. using the Task Web client to edit the order, manually changing the data received from the CRM system, and retrying
the failed task for proper allocation of new ports

Correct Answer: A

QUESTION 2

You detect some performance issues during the execution of a load test in an environment that will be used to fulfill a
large number of orders in a given day. Which three resources should you check and reconfigure in your Oracle
WebLogic Server console in order to provide better performance to this environment?

A. database connections

B. threads

C. users and groups

D. JMS queues

E. deployments

Correct Answer. ABD

Reference: https://docs.oracle.com/cd/E13222_01/wls/docs81/perform/WLSTuning.html

QUESTION 3
Identify two approaches that you should follow in your OSM design in order to support multiple versions of cartridges.

A. When there are multiple versions of a cartridge with multiple versions of an order, order recognition rules must be
modeled to recognize a specific version of the order instead of the default version.

B. When there are multiple versions of a cartridge with multiple versions of an order, a single order recognition rule
should be modeled to recognize all order versions.
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C. To recognize a specific version of an order, the Target Order version of the order recognition rule should be set to the
revision of the cartridge where the specific version of the order resides.

D. Multiple versions of orders are supported when modeling cartridges in Design Studio, but only one version of an
order should be deployed at the same time in a running environment.

E. When deploying a new version of an existing cartridge, the new version of the orders should be compliant with the old
version, because orders will be automatically migrated to the newer version.

Correct Answer: AD

QUESTION 4

Which two actions would allow you to configure an XQuery automation plug-in in an automated task that is intended to
publish a message in a IMS queue when the task becomes ready to be executed?

A. setting the Event Type as Internal Event Receiver

B. setting the Event Type as External Event Receiver
C. setting the Automation Type as XQuery Automator
D. setting the Automation Type as XQuery Sender

Correct Answer: BC

QUESTION 5

Which two types of fallout scenarios can be detected and notified by implementing a Jeopardy?
A. invalid requests being sent to the downstream system

B. downstream network connectivity error

C. slow downstream system processing

D. failure during order creation

E. failure in runtime execution of automated task XQueries

Correct Answer: AC
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